N of associated (recoToSim) looper tracks vs normalized X’

recoToSim) tracks vs normalized x?

[{

0 12 14 16 18 20

4

2

8

6

track x?

berset

P

PR

sxoen aredidnp

[N o associated

ized x?

ack vs normal

tr

0

[N of reci

15p----

syoen areandnp

1=}
3
14

I o
N <
00 X
— O
s
.hm =1
<
—
N
B
o
—
[ee]
©
<
N
. o
syoen axey oney syoel axey oney
. -
S| 8
HE
© 5 | oY
Nk
< 2
Nk
RN
&2
S &
Gl k=
©
<
o
so ey o

syoesy angy oney

Qo
NS
0 ¢
— O
| ®
© =
—
<
—
o
—
o
—
c0 ‘
ror]
© T
@
2
~ S
8
TTTRYTTGYY EL N 9
P H .n.u..m::... PR TR 8
© ) < © o
=] =] =) 5]
= = = P
syoen L] syoen




	Contents
	Page 1


